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General Instructions :

()
(i)

(i)
(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 10 questions of 1 mark each, Section-B comprises of 8 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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SECTION - A/ @US - A

Question numbers 1 to 10 carry one mark each. For each questions, four alternative
choices have been provided of which only one is correct. You have to select the correct
choice.

U9 AT 1 | 10 Tk Uceh W9 1 37k ST &1 37 U9l § Ucieh oh foig o faerey fedr & €1
o & Shraer Tk W § | @ faemen g

The quadratic equation 2x*— /5 x+1=0 has

(A)  two distinct real roots (B) two equal real roots

(©)  noreal roots (D)  more than two real roots

feend wHtehtor 20° — 5 x+1=07%

(A) 2 fu areafas qa € (B) A g9H arEfas g §

(C) o ardfas qa T2 § (D) 9 3ferer arEdfas ga § |
The sum of first 16 terms of the AP :10,6,2, ........... is

(A) —-320 (B) 320 ©) —352 (D) —400
IR 92110, 6,2, ........... % T 16 TGl HI AT T :

(A) —-320 (B) 320 ©) —-352 (D) —400

In the given figure, AT is a tangent to the circle with centre O such that OT is 4cm and
ZOTA =30°, then AT is equal to (in cm)

(@)

30°

T
A

A) 4 B) 2 © 243 (D) 443

& T pfa W, AT g O a1l I ot UEt e99) W & o OT=4 Al 991 LOTA=30" 8, @ AT

1 A (S H) ®

30°

A
A 4 B) 2 Q 23 (D) 4.3
In the given figure, AB is a chord of the circle and AOC is its diameter such that

ZACB=50". If AT is the tangent to the circle at the point A, then ZBAT is equal to
(%

(A) 65 (B) 60 Q)  50° (D) 40
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10.

< T oTRfd W, AB I I Tk el &, AOC Uk =99 € 991 LACB=50"% | afc g9 % fag A |
w9t Y@ AT S, @ /BAT &1 AH

C
o) B
A T

(A) 65 (B)  60° Q)  50° (D)  40°

If radii of two concentric circles are 4cm and 5cm, then the length of each chord of one
circle which is tangent to the other (in cm) is

(A 3 (B) 6 © 9 O 1

Ife <1 geheta gl ot Bt 4 .. don 5 QAL 7, @ Tk g9 w1 37 91 ®F e, S g g9
T T X 7, (AL H) €

(A) 3 B) 6 © 9 O 1

To draw two tangents to a circle inclined at an angle of 40° it is necessary to draw tangents
at the end points of two radii, inclined to each other at an angle of

(A) 120 (B) 60° Q) 50 (D) 140

Teh I W TH <1 o9t W@ wed & forn, {9 wER 40° F1 HI7 2, I8 Tevds © R S A
el o fodl o oyl Y it s, {59 3 e i e

(A) 120 (B) 60° Q) 50 (D) 140

Volumes of two spheres are in the ratio 64:27. The ratio of their surface areas is
(A)  3:4 (B) 4:3 (€ 9:16 (D) 16:9
T TG & TR § 64 : 27 T I € Al Sk TS1F SAha H TN IR §

(A)  3:4 (B) 4:3 © 9:16 (D) 16:9

The area of the circle that can be inscribed in a square of side 8cm is (in cm®)

(A) 36w (B) 18w © 16w D) 9w
8 .. ST a1t o & ST ™ W Tk et I 1 & © (I 9. H)
(A) 36w (B) 18 <G 16w D) 9=

A pole 6m high casts a shadow 2 /3 m long on the ground, then the sun’s elevation is

(A) 60 (B) 45 Q© 30 D)  90°
6 T SeTE 1 U W T W 2/3 T oA S 5 €, @ g A S §
(A) 60 (B) 45 Q 30 D)  90°

The probability of getting a bad egg in a lot of 400 eggs is 0.035. The number of bad eggs in
the lot is

(A) 7 (B) 14 ()21 (D) 28
400 371 T TH &0 H § Teh TS el T hE AT 0.035 1 0 H TR i ol A ¥
A 7 (B) 14 ()21 (D) 28
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11.

12.

13.

14.

15.

16.

17.

18.

19.

SECTION-B/@Us - &

Question numbers 11 to 18 carry two marks each.
TTT WEAT 11 | 18 ek Tedeh U¥ o 2 33 B |

Find the roots of the quadratic equation : </7 y* — 6y —137 =0.
fgamd FHieRT 7 1 — 6y — 137 =0 % 7 I FHIfSC |

Is68 atermof the AP: 7,10,13,........ ?
1 68 Teoh HIR 941 : 7,10,13, ...... .. FHITH IS T ?

Two tangents PA and PB are drawn from an external point P to a circle with centre O.
Prove that AOBP is a cyclic quadrilateral.

FZ O 91 g9 % T 9 foig P @ 99 W <1 o991 WW¢ PA a1 PB ®i+t T ¥ 1 fag wifsw fw
AOBP T& =sh1d =gl T |

If the perimeter of a sector of a circle of radius 5.7m is 27.2m, then find the area of the
sector.

Ifg 5.7 Ht B 9t 99 & U Beegve @1 ufmg 27.2 W R, O 39 euwve & w9
HifST |

A solid metallic sphere of diameter 21cm is melted and recasted into a number of smaller
cones, each of diameter 7cm and height 3cm. Find the number of cones so formed.

21 9.9, =™ 91l 9T % Tk 3™ Tl ol fUeeret 8-l wigal # @ T, S goie H
= 7 9., T S9E 3 A, ¥l 39 YRR o4 Yt WA A1 it |

Which point on y-axis is equidistant from points A(5, —2) and B(—3,2) ?
y-318 &l &A@ foig, foigefi A(5,—2) T B(—3,2) ¥ THgEa € 7

Prove that the points (2,3), (—4,—6) and (1, 32) do not form a triang]le.
farg Fif ff fig (2,3), (—4, —6) T (1, 34) o Fegst & i & &

There are three children in a family. Find the probability of that there is at most one girl in
the family.

T IR | 3 5= & | Wifaehal Ad hifey fof afar # sifie @ e1fuss wh ol 81
OR/3Terelr
Two dice are thrown at the same time. Find the probability getting same numbers on both

the dice.
3 UTET ! Tk T1Y ekl TAT| ST 91 O Teh HM H&AT 3TH ohi Wifaehal Jd shiferg |

SECTION-C/@us - |

Question numbers 19 to 28 carry three marks each.
TTT HEAT 19 | 28 Teh Uedeh U¥ o 3 33 B |

Solve for x : 9x*—9(a+b)x + [2a° + 5ab +2b’] =0.
x % 1T & AT ; 9x% — 9(a + b)x + [2a° + 5ab +2b] =0.
OR/37eraT
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20.

21.

22,

23.

24.

Solve for x, 12abx” — (9a” + 8b°)x + 6ab=0.
x % T & HIST : 12abx” — (9a” + 8b%)x + 6ab =0.

Find the sum of all natural numbers from 100 to 200 which are divisible by 4.

100 ¥ 200 & o= H 9ft 4 § 9o UTehd W& 1 ART F1d hifSIC |

Prove that the parallelogram circumscribing a circle is a rhombus.
fag FifeT f Tk 91 % 9feTa gHiae =g gegys S ? 2
OR/3teram
Prove that opposite sides of a quadrilateral circumscribing a circle subtend supplementary
angles at the centre.

fog FT foF 99 & oftrd st =gs it TagE oot g W HqEE I ST |

Draw a triangle ABC with side BC=8cm, £B=45°, ZC= 30°. Then, construct a triangle
similar to AABC such that its sides are % of the corresponding sides of AABC.

T IS ABC 9T 98 oS BC=8 4.1, /B=45°7 £C=30"T| 310 TH 74 A =t
THAT HIFTT ST AABC & THEY 2 7901 fSeht [Sid 513t ABC o1 |7 [onsii &t % TRl

In given figure, PQRS is diameter of a circle of radius 6cm. The lengths PQ,QR and RS are
equal. Semicircles are drawn on PQ and QS as diameters. Find the area of the shaded
region and also find its perimeter.

& ¢ aepfd H, PQRS T 6 Al 52 el o o1 o419 ® a1 eoigdl PQ, QR AT RS TER
g €1 PQ U1 QS i =AM UM Y Aegd Wiw M| BMifehd &7 &1 &shel a0l IRamg A
FIfST |

A hemispherical tank full of water is emptied at the rate of 7; liters per second. How
much time will it take to make the tank half empty, if the tank is 3m in radius ?

(use = %)

T ¥ g WE ¥ W T AR SF R 7; ftex fa Tehe i T 9 @l fma s @

Afz S5 37 B 3 0 2 A T ST we F F e T e 2 w:%vm‘m)

OR/3Tere
Water in a canal, 3m wide and 1.2m deep is flowing with a speed of 10km per hour. How
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25.

26.

27.

28.

29.

30.

much area will it irrigate in 30 minutes, if 8cm of standing water is required for irrigation ?

3 Ht =it $R 1.2 O Tl U Tel H Ut 10 fRHr/ s ot = @ 9 W gl 30 fae # 97 AR
foram arwet i fo=mg o ), Seifer f=ng o fore 8 ALt et It o) A9 dehar Bl
A tree is broken by the wind. The top struck the ground at an angle of 30° at a distance of

30m from the foot. Find the whole height of the tree.
st ST ¥ Tk U 72 ST § SR 2T g 9N 39 WE S Sl § foh Ug o forer s w

ST § SR 3Th W 30° T RV ST &1 U F UISfeg hi g, STET U h R S g
€, 30T &1 Ug ! Fot S A1 TS|

Find m, such that area of AABC is 2 square units when the vertices are A (3, 4), B(m,2) and
C(5,6).

Ifc AABC & W A(3, 4), B(m, 2) 1 C(5, 6) © A1 SHeRT &51%a1 2 3 SHE §, A m 1 AF 1A

HifsT |

The points P(2,9), Q(a, 5), R (5, 5) are vertices of a triangle PQR right angled at Q. Find the
value of ‘a” and hence the area of APQR.

g P2, 9), Q(a, 5) A R(5, 5) Tk THH s &% ¥ &, f9d LQ Tushm &1 a 1 AN I
HIT 1 APQR I &H 1A HITST |

All the face cards of spades are removed from a well shuffled pack of 52 cards. A card is
then drawn at random from the remaining pack. Find the probability of getting

(@) a black card (ii) a queen

52 Ul i T AR hI MG H H gHRA o 9ol AR ol I frehrer fou S €1 3w w7 9
A=A Tk I THehTel ST & | Wifarehal A1 shifeq, o famtet T o

() T I TR TR (i) T S TH I IA
SECTION -D / @S -

Question numbers 29 to 34 carry 4 marks each.
TT HEAT 29 | 34 T Yeheh U9 o 4 3 & |

The time taken by Ram to cover 150km in one direction was 150 minutes more than the
time in the return journey. If he returned at a speed of 10km/hr more than the speed of
going. What was the speed per hour in each direction ?

u fown § T #1150 fR. . & g @@ A H, 39 feen 9 anfrw 35§ foig W e ¥ 150 fie
sifyer o €1 afe g aifte ot ® et § 10 foh. Y. /s &t eifuss =1 & =eran §, @ SRt
Sk feem § S et =Tet A1 hifsTe |

OR/3aT
An aeroplane left 40 minutes late due to heavy rains and in order to reach its destination,

1600km away in time, it had to increase its speed by 400 km/hr from its original speed.
Find the original speed of the plane.

A 9 % KR Tk I 40 e &t < | =el1 1600 TR &7 IO A60 F HHI W U
F o foIu 39 379 =1 1 98el | 400 TR.HE. /5T 9@ 9811 agAN Wi aRdfdeh =l 9
HifeTa |

In a flower bed, there are 23 rose plants in the first row, 21 in the second, 19 in the third and

so on. There are 5 rose plants in the last row. How many rows are there in the flower bed ?
Also find the total number of plants.

el St Tk FIRT H, TRelt Ui H 23 e o U9 ¥, gudt ufdd # 21, dad ufdd § 19 den s o
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31.

32.

33.

34.

TH TR 119 €1 afe enfadt dfad | 5 eme & 0 € O Jr o farat dreil ) afsat € qen g
EIsRSIEER RS

Prove that the tangent at any point of a circle is perpendicular to the radius through the
point of contact.

fag wifsre fm ga & fordt foig W oot T vt foig @ M areft e R o 2t €1

If the diameters of the circular ends of a bucket 28cm high are 56cm and 14cm, determine

its curved surface area and the total surface area. (Use = 2—72 ).

Ifg 28 H. 9K HI T ae! & goid fo1i & =9 56 A, a1 14 A, §, T 3HR ThTS
SAHT A THUT I3 &%el T T | (wzz—;aﬁﬁm)

OR/3tear
A cone of radius 10cm is divided into two parts by drawing a plane through the mid -
point of its axis. Compare the volumes of the two parts.

10 9.1, 5591 % Uk 3 I TUHI SR & sl o S g Teh THAS, ST 39 STER o T
T, W Y H e ST g | < A Sk ST i ot Shifeg |

A gulab jamun, contains sugar syrup upto about 30% of its volume. Find how much syrup
would be found in 45 gulab jamuns each shaped like a cylinder with two hemispherical
ends. The total length of it is 5cm and radius 1.4cm (Use w= % ).

Teh T[Tl ST B SHeh ST i 30% ST bt SEET R 1 45 TerrestiHl § feral =rert e, afe
Y TS Ueh Se o AR 61 8, fraeh A1 foR 31eiiielehr € qen sue! oei 5 4., §

S o 14 2T <w=2_72 )

From the top of a 7m high building, the angle of elevation of the top of a tower is 60° and
the angle of depression of its foot is 45". Determine the height of the tower.

[Take /3 =1.732]

7 H 9 9o & IR ¥ Tw TR % e 1 o #ivn 60° § 3R 3Heh UIe 1 STaTHT Il

45° %1 TR HY SR 6 ST (/3 =1.732 AfS0)
-00o0-
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